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First, rearrage the equation to get y by itself. Then, state the 'b' (y intercept) and the
'm' (slope). Then, sketch the graph of the line.
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Solve each system by graphing.

1) y=2x-2

y=—%x+3 & W\: ..:L lo—-_—_-_ }
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Solve each system by elimination. () O, z ( _l? _zd

dx - Ty=-9
cg\% —2x —4y= 125
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Solve each system by substitution.
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1) Bill and Jasmine are selling fruit for a school fundraiser. Customers can buy small boxes of oranges and

large boxes of oranges. Bill sold 9 small boxes of oranges and 14 large boxes of oranges for a total of
$397. Jasmine sold 1 small box of oranges and 7 large boxes of oranges for a total of $153. What 1s the

cost each of one small box of oranges and one large box of oranges?
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